= |EEA
A |eco
‘@j\' PASS

PORT. :hager

Product Environmental Profile

Kit for double hidden sockets to prewire

Company information References covered

Hager For the complete list of the covered references, see details in Appendix 1.

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: info@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Reference product identification Connect/disconnect the plug of a load consuming 16A maximum under a voltage of 220V while protecting
WE132 the user from direct contact with live parts, for household application area, according Load Rate of 10% and
Use Time Rate of 30%, and for the reference service life of the product of 20 years.

Use scenario based on :
PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
3.10 Socket product.

PEP ecopassport 1/5 HAGE-01509-V01.02-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

PEP ecopassport

Plastics Metals Others
g % g % g %
PC 73.61 47.3% Copper 22.80 14.7% Cardboard 39.12 25.1%
PVC 3.86 2.5% Brass 5.08 3.3% Wood 3.71 2.4%
PBT 0.94 0.6% Stainless steel 2.24 1.4% Paper 1.06 0.7%
PE-LD 0.74 0.5% Nickel 0.27 0.2% Glass 0.66 0.4%
PTFE 0.26 0.2% Silicon 0.14 <0.1% Paper 0.50 0.3%
Lithium 0.10 <0.1% Other 0.51 0.3%
Total mass of reference product with raw material
A 155.6 g
packaging :
Total mass of reference product 14819 g

(Product + packaging)

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Distribution Installation End of life Module D

Manufacturing

=)
=
= ©° 1
3] o > o
e o =
c 5 £ g @ 38 &
S B c c =5 5 = = s = S
= ® ] K] <} S 7} - o
So| S o g g 5% ° ° g | £3 %2
c T - =

£ g g 25 55 Se 8 € < 2% | 2% 5 28 | 232 828

x 9 © = ca ca © c [ [} 8 € g E=l £ D © T =
(o] £ =] S < = = = D © p=a=} T £
-9 kit = 2 L0 2= I © & ® 1= E® = o ® g > 8 c g
= = I Q
£8 2 e} 2% T 6 S 5] 2 53 <} 9 s Q 8 29 Ze a © 5
o5 = 5 20 =0 =] = © = 5 @ = 0 » 2= 5 = @ o 2
La ° 2 =8 T3 © o =4 o a 2 T2 S > =4 T o - Q a = o
o] = 5 2 g ® & 5 2 o} o x o Q T o © = o c 3 ? o
e o £ c 3 o s (4 = c o c a & O < c c
5 s = [Shy-% £ 3 © == JaE=} g 2= S
2 a ) ) ? 2 > o} E=NO) m o
T @ £ £ D= = = [0} © 0 c
© 2 s s 2 © £ S s
i i = (= >
= 2 a

ks

Life cycle stages

Manufacturing Distribution

These products are manufactured by a site that has received an environmental certification
1ISO 14001.

The packaging has been designed in accordance with current regulations. In particular,
the European directive 94/62/CE relative to packaging and packaging waste.

This phase takes into account raw materials, manufacturing processes, production offcuts
and their end-of-life treatment, upstream transport of materials and sub-assemblies to the
manufacturing site, and transport from the manufacturing site to the final logistics platform.

The used packaging is 100% recyclable or recoverable.
Packaging and logistic flows are continuously improved in order to reduce their impact.

This phase taken into account the transport of the finished product, including
packaging, to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the packaging waste treatment.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent

Power consumption / not load dependent

Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0.0132 30.0% 0 70.0% 0 0.0% 0 0.0% 0 100.0%
This corresponds to a total energy consumption of 0.69 kWh for the use span of 20 years.
Energy model of the use phase :
Europe
Consumables and 1ance :
None
2/5 HAGE-01509-V01.02-EN



End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 32%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (I), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.3.4-11 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 A4 A5 C1-C4

Environmental impact indicators

: . Manufacturing Distribution Installation (VETY End Of Life

Indicators Unit A1-A3 Ad | A5 | B1-B7 | c1-Ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 1.15E-02 3.83E-05 1.22E-04 9.59E-04 1.89E-03 1.45E-02 -1.42E-02
Climate change - Total (PEF-GWP) kg CO2 eq. 6.97E-01 2.45E-02 1.01E-01 1.62E-01 1.48E-01 1.13E+00 -2.57E-01
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -3.09E-02 4.04E-05 6.14E-02 6.34E-03 7.77E-03 4.47E-02 -3.40E-03
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 7.28E-01 2.45E-02 3.91E-02 1.56E-01 1.40E-01 1.09E+00 -2.54E-01
Climate change-Land use and land use change

kg CO2 eq. 6.24E-05 3.71E-08 3.87E-10 5.43E-09 8.14E-10 6.25E-05 0.00E+00
(PEF-GWPIu)
Ecotoxicity, freshwater (PEF-CTUe) CTUe 6.43E+00 7.03E-01 5.76E-01 3.17E-01 8.77E-01 8.90E+00 -3.51E+00
EF-particulate Matter (PEF-PM) '”gi'::;‘g;"f 6.95E-08 3.30E-10 7.47E-10 8.38E-09 9.28E-09 8.82E-08 -3.20E-08
Eutrophication, freshwater (PEF-Epf) kg P eq. 3.05E-06 9.15E-08 5.64E-07 7.39E-07 2.24E-06 6.68E-06 -1.40E-03
Eutrophication, marine (PEF-Epm) kg N eq. 5.37E-04 6.98E-06 5.18E-05 9.65E-05 1.03E-03 1.72E-03 -6.55E-04
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 6.20E-03 7.66E-05 3.77E-04 1.87E-03 1.59E-03 1.01E-02 -8.35E-03
Human toxicity, cancer (PEF-CTUh-c) CTUh 1.58E-08 4.75E-12 4.49E-09 2.17E-10 1.45E-10 2.07E-08 -1.82E-09
Human toxicity, ancer (PEF-CTUh-nc) CTUh 1.16E-07 9.07E-11 1.24E-10 7.25E-10 1.08E-08 1.28E-07 -1.64E-07
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 2.02E+00 8.60E-04 6.25E-03 3.91E-01 8.11E-03 2.43E+00 -3.94E-03
Land use (PEF-LU) No dimension 3.46E-01 1.62E-04 3.83E-03 2.59E-01 4.03E-01 1.01E+00 -1.13E+01
Ozone depletion (PEF-ODP) kg CFC-11 eq. 1.29E-06 2.85E-10 6.07E-10 1.54E-09 1.74E-08 1.31E-06 -8.30E-09
f;g;‘f;'gg‘;ja' ozone formation - human health | o ¢ NMyVOC eq. 2.28E-03 2.48E-05 8.55E-05 3.11E-04 5.35E-04 3.24E-03 2.37E-03
Resource use, fossils (PEF-ADPf) MJ 1.18E+01 4.36E-01 4.01E-01 5.16E+00 2.23E+00 2.00E+01 -1.45E+00
;,EEEKEEP‘SE' D L kg Sb eq 1.71E-04 8.89E-09 9.34E-09 5.79E-07 8.48E-07 1.73E-04 -4.15E-05
Water use (PEF-WU) m3 eq. 9.30E-01 9.01E-04 3.40E-03 1.03E-02 3.51E+01 3.60E+01 -1.20E+02
Resource use indicators
N Manufacturing Distribution Installation Use End Of Life

Indicators A1-A3 Ad ‘ A5 ‘ B1-B7 ‘ c1-Ca ‘ GLOBAL | Module D
Net use of fresh water 2.17E-02 2.10E-05 2.69E-04 2.48E-04 9.44E-01 9.66E-01 -2.81E+00
Total primary energy 1.50E+01 4.38E-01 4.84E-01 8.57E+00 2.40E+00 2.69E+01 -3.20E+00
Total non renewable primary energy 1.18E+01 4.36E-01 4.01E-01 5.16E+00 2.23E+00 2.00E+01 -1.45E+00
Total renewable primary energy 3.16E+00 1.78E-03 8.37E-02 3.41E+00 1.74E-01 6.82E+00 -1.75E+00
Non renewable primary energy used as energy 1.02E+01 4.36E-01 4.01E-01 5.16E+00 2.23E+00 1.84E+01 -1.45E+00
D N e (T G 1.60E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.60E+00 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 2.37E+00 1.78E-03 8.37E-02 3.41E+00 1.74E-01 6.04E+00 -1.75E+00
Renewable primary energy used as raw material 7.83E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 7.83E-01 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 3.50E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.50E-02 0.00E+00

PEP ecopassport 3/5 HAGE-01509-V01.02-EN



Waste category indicators

Manufacturing

GLOBAL

Indicators Distribution |

A1-A3 A4
6.20E+00 1.03E-04
3.19E-01 2.28E-03
9.90E-05 1.80E-06

Installation Use
A5 B1-B7

2.50E-03 9.35E-03
1.16E-02 2.86E-02
2.65E-06 7.36E-06

End Of Life |
c1-c4
1.56E-03
2.33E-04
118E-07

0.00E+00
0.00E+00
0.00E+00

6.21E+00
3.62E-01
1.11E-04

Hazardous waste disposed

Non hazardous waste disposed

Radioactive waste disposed

Output flow indicators

Indicators GLOBAL

A1-A3 A4 C1-C4

Manufacturing Distribution
A5 B1-B7

Installation | Use | End Of Life |

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Materials for energy recovery 1.69E-03 0.00E+00 3.37E-03 0.00E+00 0.00E+00 5.06E-03 0.00E+00
Materials for recycling 3.14E-02 4.16E-12 3.07E-02 1.86E-08 2.82E-11 6.21E-02 0.00E+00

Biogenic carbon content

Packaging Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01

3.91E-02 1.56E-03 3.71E-03 4.44E-02
Biogenic carbon content (declared unit) 1.10E-02 5.91E-04 1.46E-03 1.30E-02
Biogenic carbon content (functional unit) 1.10E-02 5.91E-04 1.46E-03 1.30E-02

ADEME APESA/RECORD EN 16485

0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge bon conte 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge bon conte 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

Drafting Rules PEP-PCR-ed4-2021 09 06
Supplemented by PSR-0005-ed3.1-2023 12 08
Information and reference documents: www.pep-ecopassport.org
Validity period: 5 years

Registration N°:  HAGE-01509-V01.02-EN

Verifier accreditation N°:  VH65
Date of issue: 4-2026
Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal @ External o
The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Ill environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a concrete
application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01509-V01.02-EN



-nc) - [CTUh]

Exported energy - [MJ]
, human health (PEF-IR) - [kg Bq U235 eq.]
Land use (PEF-LU)
Materials for recycling - [kg]
Net use of fresh water - [m3]
(PEF-ADPe) - [kg Sb eq]
Total primary energy - [MJ]

3
=
2
8
&
8
2
2
2
8
g
£
13
o

ication, marine (PEF-Epm) - [kg N eq.]

Acidification (PEF-AP) - [mole H+ eq.]
Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Hazardous waste disposed - [kg]
Materials for energy recovery - [kg]

Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Resource use, fossils (PEF-ADPf) - [MJ]
Resource use, minerals and metals
Total non renewable primary energy - [MJ]
Total renewable primary energy - [MJ]
Use of non renewable secondary fuels - [MJ]
Use of renewable secondary fuels - [MJ]
Use of secondary material - [kg]
Water use (PEF-WU) - [m3 eq.]

Eutroph
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]

Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Renewable primary energy used as energy - [MJ]

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Climate change-Fossil (PEF-GWP) - [kg CO2 eq.]
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]

Human toxicity, non-cancer (PEF-CTU
Non renewable primary energy used as energy - [MJ]
Renewable primary energy used as raw material - [MJ]

Non renewable primary energy used as raw material - [MJ]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]

mate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
onising radiation

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC

[=aNe))
52 WE132 riseoz) aoreor| aoseas| rameor] szueos| oomeucn| suseioo| soseas| soros| azocos| oseian| saoeoo) rsscos| sssear| zoaee| ssscor| resees| aveos| avrecs| aveor| roseior| ssseion| roson| ssscos| sameas| ssoros| soveo| saseor| viseior| irrear| rmeor| rsoeior| ssseion| oooeso) oserco| ssoeoe| ssoeor
o
8 WE132A ruece] asieor| sseeae| rueor] sroeos| ooveon| suseio| srzes| soeor] soseos| osuean| saeeo] rsseos| vseear| zosee| ssoeor| reseas| sweeo| avreco| sueor| rooesor| sorean| rsmos| asseos| 2meas| seos| coseso| saear| wioeror| vrrear] roeor| rasesor| 2sseiao| oooeeo) owerco| sstece| ssier
p=}
5 WE133 1o0ecz| sowoo| wsseoa| riuerco| osreos| omewo| roveror| woveos| sseos| sssees| ooocio| osseico| zuseos| rorear| 2saico| saeor| arieas| soseor| asmeca| wsocar| vsieior| zacevoo| roscon| vveor| seeos| rsaear| smeso| vasevoo| voseron| asseos| aseron| 2ssernr| wscwo| oooeof asoeron| soeaz| aseio
WE133A razece] vorewo| soseae| rioeeo] sreeos| oovean| roreso| sozeos| ssear] wsieos| osuean| soseen] 2sscos| 1smear| zeee| asoror| 2rmess| asveor| ssewo| aszor| roseror| 2vean| roswos| vreor| soieas| rsoros] sseo| rasen| roreeo| osear| rareir| 2soeeor| asseiao| ooveen) owesco| sonece| raseen
c <
S WE132 sos| auscos| aoseas| saseca| miece| oomeuon| roscor| ssscan| ssmeon| rescos| omeian| roseos| aroes| sorens| seoros| reseos| oomeion| asern| avoeas| smeos| ssscor| oseiao| zwsero) ssero| ssseos| rsoros| rmeas| wooeon| ssecor| sses| aseor| sseor| srmean| oooeen) owerco| vooeuan| soreod
=
a WE132A ssos] zuseor| aoteas| 2usece] smes| oovean| roseor| orsecs| soneon] rescos| osean| 1oser] arsere] soren| sooros] receos] ooven| wreie] svess| saecs| asseor| osen| 2seo| ssorio| 2useos| rsoros| irseso| voven| asseor| ssmeas| aseor| asseor| vrmeas| ooveen) owesco| voveesn| soreas
=
o WE133 oosos| ssecoa| osseas| asseca) smseco| ooneuon| wrieico| rasear| vsosos| ravcos| omeion| reseos| rases| vasesof rsseos asseos| oomeion| assern| sseas| aseos| ssocor| oseiao| swsero) swero| someos| zescos| zmoca| wooeon| wsocor| rsven| sascor| smeor| zsean| oooein) oserco| vooeian| raes
WE133A sosos] sseeoo| sseas| sasece] ssieos| oovean| rriewo| ruseor| voecs] roveor| osean| roswor] rasere] vaserof rssees| 2sseor] ooven| wssee] sseos| sseas| asseor| osen| wseio| srero| soneos| 2seos| 2oveso| voven| wsseor| vuseas| soeor| esseor| 2smeas| ooveen) owesco| voveesn| raees
c
o< WE132 razeos voreor| osseas| asieca| ssreco| oomeuon| srecor] sesear| sumos| ammeos| omein| asees| ssscos| saserof waseos| smeco| aseas| soreos| sosear| vesos| soreor| oseian| worero| roreo| ssseos| seseos| ssree| wooeon| soreor| omeas| soror| smseor| sorean| oooein) oserco| vooeean| sres
[
WE132A rzeo] roeor| sueae| soece] sorero| oomean| sreeor] soiear| suecs]| sreos| osean| 2wees| sseoo] raiero| casees| ssseos| sveas| soreer| semeas| viece| soreor| oswean| soreo| rirero| ssseos| 2eseos| ssrece| voveem| soreor| oseas| aorear| ssseor| sorece| ooveen) owesco| voveesn| swees
©
@ WE133 vosos veocor| erseas| ozmea| sraeo| oomeuon| wrscor| nsscar| saseos| ssscos| omeian| suseos| riscos| ssresof ssoros) sosco| sueos| asscor| ameas| smecs| wsscor| oseiao| soreno| vuacos| seor| wrieos| rsseor| oooeon| wsseor| vsscn| sssor| roscor| vssear| wooesn) oserco| vooeuan| sores
WE133A roeo] roocor| oreae| caeae| srero| oovean| srscr] ssseor| sosecs| soscor| osean| saseas) raseoo| rorerof ssoees) soseoo| sueas| asseor| azmeas| rmece| wsseor| osen| soreo| veoo| rsear| woos| rsseor| voven| wsseor| vaseas| sseor| roseor| rssear| ooeen) owesco| voveesn| swees
& m WE132 sseos| reoeor| oseas| rsoeor| suseo| oomeuon| aveor| raear| sessos| vomeos| oseian| sseos| avreo| vaseso| aweor] asseos| oomeeon| rsscos| ssscas| sssecs| swecico| oseian| rsicos) msscos| ssvean| rseeos| ssreucof wooeeon| scico| srmear| saneon| nsresco| saresan| wooceon) owerco| vooeuan| roueer
=
i
o WE132A sseor] reoeor| oseas| rseor] suseoo| oovean| swer| rsear| sesecs] romos| oswean| sseas| 2vrero| vamero| sorwor] 2sveor| oovean| rsseos| suseor| sstece| sierco| osoean| rsieoo) ssseoo| smeas| rseeos| sereco| coen| sroeioo| srsear| siuein| esresco| saresao| ooveen) owesco| voveetn| roseer
WE133 roseos| ssseor| 1seas| azeor] vrseo| oomeuon| asicor] vsseas| roseos] asscos| omeion| rssees| sareo| vsseon| woscor| ssseon| oomeion| asscos| svvear| sooecs| rooeior| oseian| aveos| vracos| ssseon| rsocos| roseuco| wooeeon| rosceor| ssean| roeior| trmeio| roseiao| wooceon) oserco| vooeean| zueer
WE133A roeas] ssieor| 1seae] soeor] rioeos| oovean| osieor] rsoeos| rovear] seseos| osuean| 1ssece] arero] vaseos| soseor] ssseor| oovean| ssscos| srreas| soece| roseror| oswean| swos| rrseos| ssvean| rsomos) razeco| coen| roseeor| viseas| roseror| rrresor| rooesao| ooeen) owesco| vooeesn| 2eer
O <
=0 WE132 ioeos) vascor| rrmeas| raocor] aseso| oomeuon| wreor| azeas| vosos| vsocos| omeian| rseees) vaseo| soneon| aveos| swseon| oomeion| swsen| osear| aseos] 2zl oseian| rreon| smeos| sssean| rieor| srseor| oooeon| azeico| wasear| zasein| zsoeico| sraean| wooceoo) osoescof vooeesn| asreeo
- 7
= =
50 WE132A 1oeas] ruseor| rmeas| raoeor] srero] ooven| sreor| zmeos| rosecs| rsocos| osuean| rseres) vasero] ronean| sviees| soseor| ooven| zwen| omeor| sveas] 22| osuean| 1ros| omeos| sssean| riweor] vrieor| coven| 2zsewo| susear| 2asein] 2aoesoo| 1riear| o) owesco| voveesn| ssieeo
hel
2 WE133 sveos| aseor| 1meas| saeor] raveos| oomeuon| raseioo| ssseas| 17iees| asecos| osesan| sseees) aseeo| irmean| rs0mca) ssocon| oomeion| azsen| rsieico| asesos] sseico| osoeion| zweon| vsoros| sesean| rsscor| meon| oooeeon| ssoeico| vsuean| sseeon| ssreico| zszean| wooceoo) osesco| vooeesn| srieeor
WE133A sueas] aseor| 1zeae| 2xeor] rsveos| oovean| ruseio| seceos| 11ecs| 2secos| osuean| 2sees) 2seero] imean| 1s0ece| asseor| oovean| azsen| rsieo| sseos] ssoero| osuean| 2sros) rsoros| sesear| rsseor] 2eveor| coven| ssoeroo| vsseas| ssoein] ssresco| 2szear| wooeen) owesco| voveesn| arieso
- WE132 aea) asreor| smeos| asicor| omewco| ooneeoo| sieico| 1soeas| asseos] asseo| ooneuon| aoocico mseas| veseor| asscos] vsseion| cooeeoo) ooeo| zstevon| aooceoo] raseuco| coveron| asocos] szmean| 2sros| ocoso| 17seson| aooceoo) vaseusa| 4sseos| raseic| szvesso| 17seon| ocosco| ocoesan| aooteoo| 1z
.§ WE132A raceaz| 2sreor| aseon| 2sieor| ooewcof oomeeoo| asrevco) -vaoeo| ssseos| asseca oooeiao| oooeoo| -rezeon) -vesear| asseo| riseeor| oooeian| oooeco| 2ereron| oooeian| -vaseico| osoeron| ss0eon| apoe| 2aneoa aooeian| 17sero| oooeroo vaseron| assas| raseroo| azveion| 17sesc0| ocoeeoo| acoeion) soocsto| 1aoeeen
s WE133 asca) aneor| semos| arscor| omeco| oooeeon| smaewco| 2sean| voses] sseoa| ooneuon| aoocico| soreas| 2ramor| asseos] vsteion| oooeeoo) ooo| 4sseion| aooteoo] 2sseuco| coveron| raocos| samean| aseos] ocoeio| 2azeion| aooteoo) 2sseuca| ssseos| -asso] savesso| zaseion| ocosco| oooesan| aooteoo] rssez
WE133A ssecr] areor| sereas| wizeor] omero| oovecn| ssiero| 2sseas| vosecs| s0e0o]| osnerao| vooeon) soreos| 2rzean| susees] voreion| oovevon| o] ssesco| coveron| 230es0o| osuerco| 1sseon) ezsen| sateas| oooeeoo] 2uzesco| soveran| 230er0| ssses| 2a0evon| -s206000] 2szercn| cooeeon) soesco| ocoeein| ostece

PEP ecopassport 5/5 HAGE-01509-V01.02-EN



